ta’ B e
if § I m n| =2, then what is the value
lp a r
~|6a 3b 15c
of the determinant |2/ m  5n ‘ ?

2p .- g

(a) 10

(b) 20 fHAS = J

(¢) 40 3 ‘
60

Let X be the set of all graduates in India.
Elements x and y in X are said to be related if
they are graduates of the same university.
Which one of the followmg statements is |
correct ?

(a) Relation is symmetric and {ransitive
only.
(b) Relation is reflexive and transitive only.
(¢) Relation is reflexive and symmetric
only.
{d) Relation is reflexive, symmetric and
transitive. — gy t* d q
1 iy
If x2 +y? =1, then what is ———w
1+x—1iy
equal to ? ,
(a) x-—1y ﬁ V\& O
(b) x +1iy
(e) 2x
(d) -—2iy

Consider the following statements :
-
1.  For any three vectors a b E)

- = -

2 .{b +c)x(a +b +c)=0

2. For any three coplanar unit vectors
-5 - - —> .
d,%, F4d KTy, £ =1

Which of the statements glven above is/are

correct ?

(a) 1only A\/\&w A
(b) 2 only

(¢) Both1and 2

Tog-ToqSh g ‘”W‘HP?“N

(d) Neither 1 nor 2

Directions :
follow :

For the next 3 (three) questions to

Consider the following lists :

Each item under List I is associated with one
or more items under List I1.

List I List 11
(Function) (Property)
A éin x Periodic function
B. cosx Non-periodic function
C. tanx Continuous at every point

on (—ee, ©0)
4.. Discontinuous function

5. Differentiable
point on (— oo, oo)

at every

6. Not differentiable at every
point on (- co, eo)

7. has period n

8. - has period on

9. increases on (0, 1/2)
10. decreases on (0, n/2)
11. increases on (1/2, 1)

12. decreases on (11/2, 1)

A is associated with

(ay 1,8,5,8;9,12

®) 2 4,6,8, 10, 11——?9'»\& )
) 1,383,857 10, 11

{d) None of the above

B is associated with

(a) 5,89 12 ,

{b) 5 8, 10, 12 ﬁhg ' ﬁ
{e) 1, Bs.208, 8, 9, 12

{d) None of th_e above

C is associated with

(@ 1,4,6,7,9 11 A\«Sf /)
b) 2,4,6,8,9

0 1,4,6,7,9

(d) None of the above



10.

11.

If p and q are positive integers, then which
one of the following equations has p — Ja as

one of its roots ?
L

(a)

i x2-2px+ (P2 -q@ =0

x2~2px-—(p2—q)=0

Ans: b

(¢) x2+2px~(p2—q)=0

(d x®+2px+(p2-q =0

Given two squares of sides x and y such that
y = x + x>. What is the rate of change of area
of the second square with respect to the area
of the first square ? :

(a) 1+ 3x+ 2x%

A, A

(b) 1+ 2x + 3x2
(¢) 1-2x+ 3x2

(d 1-2x- 3){2

The planes px + 2y + 2z — 3 =0 and
2x —y + z + 2 =0 intersect at an angle2
n/4. What is the value of p? ? 8
(a) 24 :

® 12 Ans. A

() 6

(d 3

The growth of a quantity N{t) at any

instant t is given by gg—i—tz

that N(t) = cek!, ¢ is a constant. What is

the value of a ?

(a) ¢

® k S A
() c+k

(d c-k

WOTTIqS b o[ Iy oo

= o N(t). Given |.

12.

13.

~

15.

(4 -A)

A circle is drawn with the two foci of an

at the end of the

diameter. What is the equation to the circle ?

(@ xX2+y’=a%2+b?
(b) x2+y2=a2—b2_ hv‘g\‘ A
© x%+ y2 =2 (a2 + b?)

@ x2+y?=2(@%2-1b?

What is the image of the point (1, 2) on the
line 3x+4y-1=0 ? .

) (-Z, _ﬁj
5 5

Ang A

If the product of the roots of the equation
x2 -5x+ k=15 is f3, then what is the
value of k ?

ey 12 ‘
b 15 Ane. B
() 186

(d) 18

Consider the following statements :
1.  Every function has a primitive.
2. A primitive of a function is unique.

Which of the statements given above is/are

correct ?

(a) 1 only I{]‘\(\ 1 B
(b) 2 only

(¢) Both1and2

(d Neither 1 nor 2



